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|, Answer the following with ¥ for correct

and X lor wrong answer,
Imarks

The rotor flux in induction motor rotates at the same speed of the ™ v
stator magnetic field ‘

The V-curve is the stator curremt against field curremt for

| synchronous motor of salient poles but not for cylindical rotor type K /

| poles

The staring of synchronous motor can be achicved by starting it by u,f

| an induction motor at nos<load

The rotating magnetic field i;-}:ﬁﬂﬁm] by three phase winding
spaced by 120° mechanical degrees independent of the number of X

Wound rotor induction motors have 3 slip rings and external variable J| L/‘f ¥
resistances in series with the rotor windung.

!
Damper winding of synchronous motors are special bars Jaid into |' m X

| notehes carved in the rotor face and are open circuited at both ends
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2. A 400V, 200kW, 50Hz, star connected synch

QUs motor ¢
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factor lagging with a synchronous reaciance of [an and negl;
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5 motor operates at the linear part of the characteristics. The field curren, is adi,
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(i)  Keeping the load | constant, the field current is
with unity power factor. Find the value of the

\gm = l,-%' 3

adjusted to reach input po
necessary field current
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(iii)  Keeping the load constant, the field current

is adiysted 10/60A \what would |
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A WMIM motor of an t:fﬁ:‘:imcy Of 88% and Operating at (.85
X ‘amuwa load at 0.7 p.f. lagging

) A lighting load of 200k W at unity p.f.
o gf}} - A synchronous motor of 600kV A
: "-'r--..... «d to get an over all load of the factory of unity p.f. What js

the possible
i (in hp) connected to the shaft of the synchronous mol
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